Perimeter and Area

Name: Class:

Use the 4 shapes to answer the questions.

(a) What is the perimeter of figure a?

(b) What is the area of figure b?

(c) What is the perimeter of figures c and d altogether?

(d) What is the area of figures b and d?

(e) What is the area of all figures altogether?
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Answers

Use the 4 figures to answer the questions.

1cm
<=

lcm

(a) What is the perimeter of figure a?
18 cm
(b) What is the area of figure b?
12 cm’
(c) What is the perimeter of figures c and d altogether?

34 cm
(d) What is the area of figures b and d?

23 cm2

(e) What is the area of all figures altogether?
2
50 cm



